
OEFENBLAD

$8,44 : 3 =$

		E	t	h	d		E	t	h	d		
3	/	8	,	4	4	0	\	2	,	8	1	3
		<u>6</u>										
		2	4									
		<u>2</u>	<u>4</u>									
			0	4								
				<u>3</u>								
				1	0							
					<u>9</u>							
					1							

$11,7 : 9 =$

	T	E	t	h	d		T	E	t	h	d			
9	/	1	1	,	7	0	0	\		1	,	3	0	0
		0												
		1	1											
			9											
			2	7										
			2	7										
				0	0									
					0									
					0	0								
						0								
							0							

$0,808 : 8 =$

E t h d					E t h d				
8	/	0	, 8	0 8	\	0	, 1	0	1
		<u>0</u>							
		0	8						
		<u>8</u>							
		0	0						
			<u>0</u>						
			0	8					
				<u>8</u>					
				0					

$48,2 : 2 =$

	T	E	t	h	d		T	E	t	h	d			
2	/	4	8	,	2	0	0	\	2	4	,	1	0	0
		4												
		0	8											
			8											
			0	2										
				2										
				0	0									
					0									
					0	0								
						0								
							0							